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Pre- ~Calculus HONORS |
Unit 6 Test Review !

.**ﬂf ENTIRE TEST IS CALCULATOR FREE, therefore, this review sheet is also calculator free!

le, state the angle in RADIANS. ( ULATOR)

Find the exact values of the following. If the answer is a|
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Use your general knowledge of trig and IDENTITIE to solve tlée following (N‘O CALCULATOR). =
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Find the exact values of the followjng (NO CALCULATOR) e
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Prove the following equations (NO CALCULATOR):
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Solve in e ivjchwva\ Lo i g

Solve the following equations (NO CALCULATOR):

23. secx+tan?x=-1 24. 4cosxsinx—3cosx=0 25. 2cos*x—3cos’x+1=0 *‘6)2
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28. An object moves in simple harmonic motion described by the equation 4, where t is measured in .
seconds and d in centimeters. Find the following:

A) the maximum displacement O\W\Q':-'
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B) thefrequency = Yo = Ty _ o E
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C) the time required to com
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29. An object is attached to a coiled sprmg The object is m:t:ally at its rest posmon‘ After that, it is gul[ed down and

then released. Write an equation for the distance of the object from it rest position after t seconds given the following

information. @f_‘. -—a‘—_ Sim (Z{_I-eﬂ

Distance from rest positionatt=0is0 Amplitude is % inch Period is 5 seconds.
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30. An object in simple harmonic motion has a frequency of % oscillation per minute and an amplitude of 8 feet, Write
an equation in the form d = a sin ax for the object’s simple harmonic motion.
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31. A perso ted on a Ferris Wheel of a radius o% -f.g%g makes one rotatloirre;_‘r?spbseconds The center of the wheel
is @ﬁﬁ&%ground Find a=gsgapts a function to re represent a person’s height above the ground at any time of a 2
min ride. Assume‘% from the beginning to the end of the ride and that a person is at the level of the center

of the wheel and hea en the ride begins.
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